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PROJECT APPRAISAL - MCU 3204 \\1::;33;1_;,-// £

DURATION: THREE (03) HOURS | =
DATE : 23" February, 2011 TIME : 1.30 pm — 4.30 pm_

Instructions: (I) Answer Question 1 (compulsory) and any THREE (03) from others.
‘ (II) Use of non-programmable calculators is allowed.
(IIT} A PV table is attached herewith.

1. A project requires a capital outlay of Rs. 9,000,000 and earns the following cash
inflows over the following seven years:

Year |1 | 213 |a4|[s5]6]7

Inflows
in Rs*000

2000{2500{30004500(4000}2000|1500

The project will be completed at the end of seventh year and all fixed assets are
expected to be sold for Rs. 1,500,000. The project will incur operating costs of
Rs. 1,750,000 in the first year, including depreciation of Rs. 600,000, This is
expected to be increased annually by additional Rs. 100,000. (Depreciation value
remains unchanged.)

The project’s expected rate of return is 12%.

@ Calculate the project's payback period. Comment. (04 marks)

(i)  What is the Accounting Rate of Return (ARR) for the project? How do
you feel about the practical applicability of ARR as a decision tool?

(07 marks)
- (i) Calculate NPV of the project. (07 marks)

(iv)  What is the Internal Rate of Return (IRR) of the project? (07 marks)

(v)  How do you make the investment decision using NPV and IRR?
(04 marks)
(vi)  Calculate the Net Benefit Investment Ratio (NBIR) of the project and
decide on the viability of the project? (05 marks)



(vid),

‘What will be the risk of making the investment decision when you
consider only the above two methods in appraising tlns project? Discuss.
(06 marks)
(Total 40 Marks)

Write an essay on “ Project Management and why it is needed in an
organization?” (not more than 750 words) (20 marks)

®

(i)

€y

@)

How do choosing and understanding of the market segments and targets
help in carrying out a proper market analysis? Explain. .

~ What are the factors that should be considered in forecasting demand of a

commercial project?
(20 marks)

Explain the main approaches that can be used to evaluate the capital
structure decision of a project.

Total capital requirement for a project is estimated as Rs. 350 Mn. The
project expects Rs. 110 Mn of EBIT. Company has two alternative
financing plans. Alternative 1 is to fully finance with ordinary shares and
Alternative 2 is to issue 18% Debentures worth 100Mn and rest with
ordinary shares. The owners expect 22% dividend for the investment.
Evaluate the two alternatives if the corporate tax rate is 35%.

(20 marks)

‘What are the practical problems that can be seen in implementing non-
commercial projects? Explain.

“Incomplete financial appraisal is the maj or reason for failures of most

projects”. Comment.
(20 marks)
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